

































Level	PAR 0-3 miles (PAR <sub>1</sub> )	PAR 3-7 miles (PAR₂)	PAR 7-15 miles (PAR₃)	PAR 15-60 miles (PAR₄)
1	PAR <sub>1</sub> > 4,000	PAR <sub>2</sub> > 8,000	PAR₃ > 16,000	PAR <sub>4</sub> > 32,000
2	2,0000 < PAR <sub>1</sub> ≤ 4,000	4,000 < PAR <sub>2</sub> ≤ 8,000	8,000 < PAR <sub>3</sub> ≤ 16,000	16,000 < PAR₄ ≤ 32,00
3	1,000 < PAR <sub>1</sub> ≤ 2,000	2,000 < PAR <sub>2</sub> ≤ 4,000	4,000 < PAR <sub>3</sub> ≤ 8,000	8,000 < PAR <sub>4</sub> ≤ 16,000
4	500 < PAR <sub>1</sub> ≤ 1,000	1,000 < PAR <sub>2</sub> ≤ 2,000	2,000 < PAR <sub>3</sub> ≤ 4,000	4,000 < PAR₄ ≤ 8,000
5	250 < PAR <sub>1</sub> ≤ 500	500 < PAR <sub>2</sub> ≤ 1,000	1,000 < PAR <sub>3</sub> ≤ 2,000	2,000 < PAR <sub>4</sub> ≤ 4,000
6	125 < PAR <sub>1</sub> ≤ 250	250 < PAR <sub>2</sub> ≤ 500	500 < PAR <sub>3</sub> ≤ 1,000	1,000 < PAR₄ ≤ 2,000
7	0 < PAR <sub>1</sub> ≤ 125	0 < PAR <sub>2</sub> ≤ 250	0 < PAR <sub>3</sub> ≤ 500	0 < PAR <sub>4</sub> ≤ 1,000
8	PAR <sub>1</sub> = 0	PAR <sub>2</sub> = 0	PAR3 = 0	PAR <sub>4</sub> = 0
-	<pre>PAR1 = 0 ot meant to dire</pre>		-	





































